	TABULATION OF BIDS													1							
PROJECT	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations																				
PROJECT NO.:		†																			
ISLAND:	Oahu - Area 3 21				HI'ILAWE CONSTRUCTION, L			GRACE F	PACIFIC LLC	* ROAD BUILDERS CORP		JAS. W. GLOVER, LTD.		** ROAD & HIGHWAY BUILDERS		STATE OF HAWAI DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISIO					
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022	** NOTE: Quantities shown in		** NOTE: Quantities shown in these columns are for in-house		CONTRACTOR OF THE STATE OF THE		1													
COMPLETION TIME:	Twelve (12) Months	use																			
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT				
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	F.A.	F.A.	F.A.	F.A.	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00	F.A.	\$500,000.00				
301.0100	3 Inch HMA Base Course	5,000-50,000	SY	5,000-50,000	SY	\$22.90	\$1,145,000.00	\$24.05	\$1,202,500.00	\$33.90	\$1,695,000.00	\$38.00	\$1,900,000.00	\$34.00	\$1,700,000.00	\$130.00	\$6,500,000.00				
301.0100	3 Inch HMA Base Course	50,001-100,000	SY	50,001-100,000	SY	\$22.50	\$2,250,000.00	\$23.44	\$2,344,000.00	\$32.20	\$3,220,000.00	\$37.00	\$3,700,000.00	\$34.00	\$3,400,000.00	\$125.00	\$12,500,000.00				
301.0100	3 Inch HMA Base Course	100,001-150,000	SY	100,001-150,000	SY	\$21.50	\$3,225,000.00	\$22.48	\$3,372,000.00	\$31.00	\$4,650,000.00	\$37.00	\$5,550,000.00	\$34.00	\$5,100,000.00	\$120.00	\$18,000,000.00				
301.0200	4 Inch HMA Base Course	5,000-50,000	SY	5,000-50,000	SY	\$30.00	\$1,500,000.00	\$31.35	\$1,567,500.00	\$42.30	\$2,115,000.00	\$50.00	\$2,500,000.00	\$45.00	\$2,250,000.00	\$175.00	\$8,750,000.00				
301.0200	4 Inch HMA Base Course	50,001-100,000	SY	50,001-100,000	SY	\$29.40	\$2,940,000.00	\$30.70	\$3,070,000.00	\$40.70	\$4,070,000.00	\$49.00	\$4,900,000.00	\$45.00	\$4,500,000.00	\$170.00	\$17,000,000.00				
301.0200	4 Inch HMA Base Course	100,001-150,000	SY	100,001-150,000	SY	\$28.30	\$4,245,000.00	\$29.60	\$4,440,000.00	\$39.90	\$5,985,000.00	\$49.00	\$7,350,000.00	\$45.00	\$6,750,000.00	\$165.00	\$24,750,000.00				
301.0300	5 Inch HMA Base Course	5,000-50,000	SY	5,000-50,000	SY	\$36.80	\$1,840,000.00	\$38.90	\$1,945,000.00	\$50.70	\$2,535,000.00	\$62.00	\$3,100,000.00	\$56.00	\$2,800,000.00	\$220.00	\$11,000,000.00				
301.0300	5 Inch HMA Base Course	50,001-100,000	SY	50,001-100,000	SY	\$35.20	\$3,520,000.00	\$38.09	\$3,809,000.00	\$49.20	\$4,920,000.00	\$61.00	\$6,100,000.00	\$56.00	\$5,600,000.00	\$215.00	\$21,500,000.00				
301.0300	5 Inch HMA Base Course	100,001-150,000	SY	100,001-150,000	SY	\$34.00	\$5,100,000.00	\$36.68	\$5,502,000.00	\$48.30	\$7,245,000.00	\$61.00	\$9,150,000.00	\$56.00	\$8,400,000.00	\$210.00	\$31,500,000.00				
401.0100	HMA Pavement, Mix No. V Leveling	50-500	Ton	50-500	Ton	\$143.50	\$71,750.00	\$256.00	\$128,000.00	\$402.00	\$201,000.00	\$350.00	\$175,000.00	\$812.00	\$406,000.00	\$250.00	\$125,000.00				
401.0100	HMA Pavement, Mix No. V Leveling	501-5,000	Ton	501-5,000	Ton	\$109.00	\$545,000.00	\$187.00	\$935,000.00	\$402.00	\$2,010,000.00	\$350.00	\$1,750,000.00	\$301.00	\$1,505,000.00	\$225.00	\$1,125,000.00				
401.0420	2 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	5,000-50,000	SY	\$15.70	\$785,000.00	\$21.86	\$1,093,000.00	\$30.60	\$1,530,000.00	\$30.00	\$1,500,000.00	\$28.00	\$1,400,000.00	\$30.00	\$1,500,000.00				
401.0420	2 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	50,001-100,000	SY	\$15.30	\$1,530,000.00	\$20.45	\$2,045,000.00	\$28.20	\$2,820,000.00	\$29.00	\$2,900,000.00	\$28.00	\$2,800,000.00	\$28.00	\$2,800,000.0				
401.0420	2 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	100,001-150,000	SY	\$14.30	\$2,145,000.00	\$19.00	\$2,850,000.00	\$27.10	\$4,065,000.00	\$29.00	\$4,350,000.00	\$28.00	\$4,200,000.00	\$25.00	\$3,750,000.0				
401.0510	3 Inch HMA Pavement, Mix No. IV	5,000-50,000	SY	5,000-50,000	SY	\$22.80	\$1,140,000.00	\$30.84	\$1,542,000.00	\$40.50	\$2,025,000.00	\$43.00	\$2,150,000.00	\$42.00	\$2,100,000.00	\$40.00	\$2,000,000.00				
	1															Sheet No. 1 of 4 Sh	naate				

Sheet No. 1 of 4 Sheets

PROJECT	Asphalt Pavement Preservation, Resurfacing and Reconstruction at																
PROJECT NO	Various Locations :: STP-0300(184)																
1000-000-00007-00-000-00-0																STATE OF HAWAII	
ISLAND	O: Oahu - Area 3						AWE	GRACE F	PACIFIC LLC		BUILDERS	JAS. W. G	GLOVER, LTD.	707-0446-066-06	& HIGHWAY	DEPAR	TMENT OF
TYPE CODE	E: 21					CONSTRUCTION, LLC				CORP				BUILDERS		TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVEDTISED	D: January 21, 2022																
DATE ADVERTISED BID OPENED	D: January 21, 2022 D: February 24, 2022	** NOTE: Quantit		†													
COMPLETION TIME	: Twelve (12) Months	these columns are	these columns are for in-house														
		**APPROX.	20000022	APPROX.	20002-0002-00	701000000000000000000000000000000000000	SUMPLY OF LA	9000 ACC 2000	10000000000	WEARING TO SERVE	90000000	70 000 000 000 000 000 000 000 000 000	90999999	V/00/00/00/00/00/00/00/00/00/00/00/00/00	PLOT PRODUCTION	PATRICINA CONTROL DE LA CONTRO	912191019101010
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
401.0510	3 Inch HMA Pavement, Mix No. IV	50,001-100,000	SY	50,001-100,000	SY	\$22.30	\$2,230,000.00	\$29.63	\$2,963,000.00	\$38.30	\$3,830,000.00	\$42.00	\$4,200,000.00	\$42.00	\$4,200,000.00	\$38.00	\$3,800,000.00
401.0510	3 Inch HMA Pavement, Mix No. IV	100,001-150,000	SY	100,001-150,000	SY	\$21.00	\$3,150,000.00	\$28.28	\$4,242,000.00	\$36.90	\$5,535,000.00	\$42.00	\$6,300,000.00	\$42.00	\$6,300,000.00	\$35.00	\$5,250,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	5,000-50,000	SY	\$21.50	\$1,075,000.00	\$24.90	\$1,245,000.00	\$40.00	\$2,000,000.00	\$33.00	\$1,650,000.00	\$30.00	\$1,500,000.00	\$40.00	\$2,000,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	50,001-100,000	SY	\$21.00	\$2,100,000.00	\$23.50	\$2,350,000.00	\$37.00	\$3,700,000.00	\$32.00	\$3,200,000.00	\$30.00	\$3,000,000.00	\$38.00	\$3,800,000.00
401.0700	2 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	100,001-150,000	SY	\$19.80	\$2,970,000.00	\$22.50	\$3,375,000.00	\$36.00	\$5,400,000.00	\$32.00	\$4,800,000.00	\$30.00	\$4,500,000.00	\$35.00	\$5,250,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	5,000-50,000	SY	5,000-50,000	SY	\$31.50	\$1,575,000.00	\$35.40	\$1,770,000.00	\$54.00	\$2,700,000.00	\$48.00	\$2,400,000.00	\$45.00	\$2,250,000.00	\$50.00	\$2,500,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	50,001-100,000	SY	50,001-100,000	SY	\$30.90	\$3,090,000.00	\$34.10	\$3,410,000.00	\$52.00	\$5,200,000.00	\$47.00	\$4,700,000.00	\$45.00	\$4,500,000.00	\$48.00	\$4,800,000.00
401.0710	3 Inch PMA Pavement, Mix No. IV	100,001-150,000	SY	100,001-150,000	SY	\$29.20	\$4,380,000.00	\$32.60	\$4,890,000.00	\$51.00	\$7,650,000.00	\$47.00	\$7,050,000.00	\$45.00	\$6,750,000.00	\$45.00	\$6,750,000.00
401.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
401.0740	Pavement Smoothness Incentive	Allow.	Allow.	Allow.	Allow.	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00	Allow.	\$100,000.00
401.0800	Overtime Labor Premium	F.A.	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
404.0100	Slurry Seal	5,000-50,000	SY	5,000-50,000	SY	\$9.00	\$450,000.00	\$10.00	\$500,000.00	\$12.00	\$600,000.00	\$10.00	\$500,000.00	\$12.45	\$622,500.00	\$15.00	\$750,000.00
404.0100	Slurry Seal	50,001-100,000	SY	50,001-100,000	SY	\$8.25	\$825,000.00	\$9.20	\$920,000.00	\$11.00	\$1,100,000.00	\$9.00	\$900,000.00	\$11.44	\$1,144,000.00	\$12.00	\$1,200,000.00
404.0100	Slurry Seal	100,001-150,000	SY	100,001-150,000	SY	\$7.50	\$1,125,000.00	\$8.25	\$1,237,500.00	\$10.00	\$1,500,000.00	\$8.50	\$1,275,000.00	\$10.43	\$1,564,500.00	\$10.00	\$1,500,000.00
406.0420	2 Inch SMA Pavement	5,000-50,000	SY	5,000-50,000	SY	\$22.90	\$1,145,000.00	\$29.10	\$1,455,000.00	\$39.40	\$1,970,000.00	\$35.00	\$1,750,000.00	\$41.00	\$2,050,000.00	\$50.00	\$2,500,000.00
406.0420	2 Inch SMA Pavement	50,001-100,000	SY	50,001-100,000	SY	\$22.40	\$2,240,000.00	\$27.25	\$2,725,000.00	\$37.40	\$3,740,000.00	\$34.00	\$3,400,000.00	\$41.00	\$4,100,000.00	\$48.00	\$4,800,000.00
406.0420	2 Inch SMA Pavement	100,001-150,000	SY	100,001-150,000	SY	\$21.20	\$3,180,000.00	\$26.00	\$3,900,000.00	\$36.50	\$5,475,000.00	\$34.00	\$5,100,000.00	\$41.00	\$6,150,000.00	\$45.00	\$6,750,000.00
, 	1															Sheet No. 2 of 4 Sh	neets

	TABULATION OF BIDS																
	Asphalt Pavement Preservation, Resurfacing and Reconstruction at																
PROJECT:	Various Locations																
PROJECT NO.:																	
																STATE	OF HAWAII
ISLAND:	Oahu - Area 3					HI'IL	AWE	GRACE F	PACIFIC LLC	* ROAD	BUILDERS	JAS. W. G	LOVER, LTD.	** ROAD	& HIGHWAY		TMENT OF
						CONSTRUCTION, LLC				C	ORP			BUILDERS			PORTATION
TYPE CODE:	21															HIGHWA	YS DIVISION
DATE ADVERTISED:				7													
BID OPENED:	February 24, 2022	** NOTE: Quant these columns an															
COMPLETION TIME:	Twelve (12) Months	use.	e ioi in-nouse														
2002-0000000		**APPROX.	5000000	APPROX.					500000000000000000000000000000000000000		700C00C		557-257-5C		100000000		24.52.55.2022
ITEM NO.	ÎTEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
406.0510	3 Inch SMA Pavement	5,000-50,000	SY	5,000-50,000	SY	\$33.60	\$1,680,000.00	\$41.25	\$2,062,500.00	\$54.50	\$2,725,000.00	\$51.00	\$2,550,000.00	\$62.00	\$3,100,000.00	\$70.00	\$3,500,000.00
406.0510	3 Inch SMA Pavement	50,001-100,000	SY	50,001-100,000	SY	\$33.00	\$3,300,000.00	\$40.10	\$4,010,000.00	\$52.80	\$5,280,000.00	\$50.00	\$5,000,000.00	\$62.00	\$6,200,000.00	\$65.00	\$6,500,000.00
406.0510	3 Inch SMA Pavement	100,001-150,000	SY	100,001-150,000	SY	\$31.20	\$4,680,000.00	\$39.50	\$5,925,000.00	\$51.60	\$7,740,000.00	\$50.00	\$7,500,000.00	\$62.00	\$9,300,000.00	\$60.00	\$9,000,000.00
406.0720	Third-Party Profile Testing and Equipment	Allow.	Allow.	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
406.0730	Third-Party Dispute Resolution Profile Testing	Allow.	Allow.	Allow.	Allow.	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00	Allow.	\$20,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	5,000-50,000	SY	5,000-50,000	SY	\$6.00	\$300,000.00	\$8.50	\$425,000.00	\$15.90	\$795,000.00	\$13.00	\$650,000.00	\$15.00	\$750,000.00	\$50.00	\$2,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	50,001-100,000	SY	50,001-100,000	SY	\$5.50	\$550,000.00	\$8.00	\$800,000.00	\$13.80	\$1,380,000.00	\$12.00	\$1,200,000.00	\$15.00	\$1,500,000.00	\$45.00	\$4,500,000.00
414.0110	Excavation of Weakened Pavement Areas, 3 Inch	100,001-150,000	SY	100,001-150,000	SY	\$5.15	\$772,500.00	\$6.90	\$1,035,000.00	\$12.50	\$1,875,000.00	\$12.00	\$1,800,000.00	\$15.00	\$2,250,000.00	\$40.00	\$6,000,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	5,000-50,000	SY	5,000-50,000	SY	\$7.60	\$380,000.00	\$11.00	\$550,000.00	\$17.90	\$895,000.00	\$17.00	\$850,000.00	\$19.00	\$950,000.00	\$70.00	\$3,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	50,001-100,000	SY	50,001-100,000	SY	\$6.90	\$690,000.00	\$9.75	\$975,000.00	\$16.10	\$1,610,000.00	\$16.00	\$1,600,000.00	\$19.00	\$1,900,000.00	\$65.00	\$6,500,000.00
414.0111	Excavation of Weakened Pavement Areas, 4 Inch	100,001-150,000	SY	100,001-150,000	SY	\$6.15	\$922,500.00	\$9.10	\$1,365,000.00	\$15.00	\$2,250,000.00	\$16.00	\$2,400,000.00	\$19.00	\$2,850,000.00	\$60.00	\$9,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	5,000-50,000	SY	5,000-50,000	SY	\$9.05	\$452,500.00	\$13.10	\$655,000.00	\$20.10	\$1,005,000.00	\$21.00	\$1,050,000.00	\$24.00	\$1,200,000.00	\$85.00	\$4,250,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	50,001-100,000	SY	50,001-100,000	SY	\$8.15	\$815,000.00	\$12.40	\$1,240,000.00	\$18.40	\$1,840,000.00	\$20.00	\$2,000,000.00	\$24.00	\$2,400,000.00	\$80.00	\$8,000,000.00
414.0112	Excavation of Weakened Pavement Areas, 5 Inch	100,001-150,000	SY	100,001-150,000	SY	\$7.55	\$1,132,500.00	\$11.10	\$1,665,000.00	\$17.20	\$2,580,000.00	\$20.00	\$3,000,000.00	\$24.00	\$3,600,000.00	\$75.00	\$11,250,000.00
415.0100	2 Inch Cold Planing	5,000-50,000	SY	5,000-50,000	SY	\$3.60	\$180,000.00	\$7.25	\$362,500.00	\$12.70	\$635,000.00	\$11.00	\$550,000.00	\$10.00	\$500,000.00	\$14.00	\$700,000.00
415.0100	2 Inch Cold Planing	50,001-100,000	SY	50,001-100,000	SY	\$3.10	\$310,000.00	\$6.20	\$620,000.00	\$10.70	\$1,070,000.00	\$10.50	\$1,050,000.00	\$10.00	\$1,000,000.00	\$12.00	\$1,200,000.00
415.0100	2 Inch Cold Planing	100,001-150,000	SY	100,001-150,000	SY	\$2.80	\$420,000.00	\$5.15	\$772,500.00	\$9.60	\$1,440,000.00	\$10.00	\$1,500,000.00	\$10.00	\$1,500,000.00	\$10.00	\$1,500,000.00
415.0200	3 Inch Cold Planing	5,000-50,000	SY	5,000-50,000	SY	\$4.85	\$242,500.00	\$9.75	\$487,500.00	\$14.40	\$720,000.00	\$15.50	\$775,000.00	\$15.00	\$750,000.00	\$17.00	\$850,000.00
	·				•				-				•	•		Sheet No. 3 of 4 Sh	neets

Sheet No. 3 of 4 Sheets

PROJECT: PROJECT NO.:	Asphalt Pavement Preservation, Resurfacing and Reconstruction at Various Locations STP-0300(184)																		
ISLAND:	Oahu - Area 3						LAWE JCTION, LLC	GRACE PACIFIC LLC		* ROAD BUILDERS CORP		JAS. W. GLOVER, LTD.		** ROAD & HIGHWAY BUILDERS		DEPAR	OF HAWAII RTMENT OF PORTATION		
TYPE CODE:	21															HIGHWA	AYS DIVISION		
DATE ADVERTISED: BID OPENED:	January 21, 2022 February 24, 2022	** NOTE: Quantities shown in		** NOTE: Quantities shown in these columns are for in-house															
COMPLETION TIME:	Twelve (12) Months	use.	.008.095.038.038.7	ADDDOV													1		
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
415.0200	3 Inch Cold Planing	50,001-100,000	SY	50,001-100,000	SY	\$4.25	\$425,000.00	\$8.70	\$870,000.00	\$12.20	\$1,220,000.00	\$14.50	\$1,450,000.00	\$15.00	\$1,500,000.00	\$15.00	\$1,500,000.00		
415.0200	3 Inch Cold Planing	100,001-150,000	SY	100,001-150,000	SY	\$3.90	\$585,000.00	\$7.70	\$1,155,000.00	\$10.90	\$1,635,000.00	\$14.00	\$2,100,000.00	\$15.00	\$2,250,000.00	\$13.00	\$1,950,000.00		
416.0150	Scarify Existing Pavement	5,000-50,000	SY	5,000-50,000	SY	\$1.80	\$90,000.00	\$2.40	\$120,000.00	\$10.90	\$545,000.00	\$4.50	\$225,000.00	\$6.00	\$300,000.00	\$10.00	\$500,000.00		
416.0150	Scarify Existing Pavement	50,001-100,000	SY	50,001-100,000	SY	\$1.70	\$170,000.00	\$2.05	\$205,000.00	\$8.90	\$890,000.00	\$4.00	\$400,000.00	\$6.00	\$600,000.00	\$10.00	\$1,000,000.00		
416.0150	Scarify Existing Pavement	100,001-150,000	SY	100,001-150,000	SY	\$1.65	\$247,500.00	\$2.00	\$300,000.00	\$7.80	\$1,170,000.00	\$4.00	\$600,000.00	\$6.00	\$900,000.00	\$10.00	\$1,500,000.00		
417.1000	Cut Cores to Determine Existing Pavement Condition	1-50	Each	1-50	Each	\$500.00	\$25,000.00	\$250.00	\$12,500.00	\$500.00	\$25,000.00	\$300.00	\$15,000.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00		
604.0100	Adjusting Manhole Cast Iron Frame and Cover	1-100	Each	1-100	Each	\$3,410.00	\$341,000.00	\$5,000.00	\$500,000.00	\$3,200.00	\$320,000.00	\$2,500.00	\$250,000.00	\$5,000.00	\$500,000.00	\$2,500.00	\$250,000.00		
623.0100	Loop Detector Sensing Unit (6 Ft x 6 Ft)	1-100	Each	1-100	Each	\$1,120.00	\$112,000.00	\$2,500.00	\$250,000.00	\$1,300.00	\$130,000.00	\$1,500.00	\$150,000.00	\$1,600.00	\$160,000.00	\$3,000.00	\$300,000.00		
623.0100	Loop Detector Sensing Unit (6 Ft Diameter)	1-100	Each	1-100	Each	\$1,020.00	\$102,000.00	\$2,500.00	\$250,000.00	\$1,200.00	\$120,000.00	\$1,400.00	\$140,000.00	\$1,500.00	\$150,000.00	\$3,000.00	\$300,000.00		
623.0300	Approach-Only Microwave Vehicle Detector	1-50	Each	1-50	Each	\$4,580.00	\$229,000.00	\$5,000.00	\$250,000.00	\$2,700.00	\$135,000.00	\$3,000.00	\$150,000.00	\$3,892.12	\$194,606.00	\$5,000.00	\$250,000.00		
627.0100	Vehicular Counting and Classification System Sensor Replacement	F.A.	F.A.	F.A.	F.A.	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00	F.A.	\$30,000.00		
645.0100	Traffic Control (Shoulder Closure, per day)	10-200	Each	10-200	Each	\$17,800.00	\$3,560,000.00	\$1,975.00	\$395,000.00	\$1,300.00	\$260,000.00	\$8,500.00	\$1,700,000.00	\$5,500.00	\$1,100,000.00	\$2,000.00	\$400,000.00		
645.0200	Traffic Control (Flagging Operation, per day)	10-200	Each	10-200	Each	\$17,800.00	\$3,560,000.00	\$4,250.00	\$850,000.00	\$2,300.00	\$460,000.00	\$10,000.00	\$2,000,000.00	\$10,000.00	\$2,000,000.00	\$3,000.00	\$600,000.00		
645.0300	Traffic Control (Single-Lane Closure, per day)	10-200	Each	10-200	Each	\$17,800.00	\$3,560,000.00	\$3,450.00	\$690,000.00	\$2,300.00	\$460,000.00	\$9,000.00	\$1,800,000.00	\$8,700.00	\$1,740,000.00	\$3,500.00	\$700,000.00		
645.1000	Electronic Message Board (per day)	10-400	Each	10-400	Each	\$500.00	\$200,000.00	\$2,950.00	\$1,180,000.00	\$300.00	\$120,000.00	\$250.00	\$100,000.00	\$250.00	\$100,000.00	\$2,500.00	\$1,000,000.00		
	Sum of All Items - Area 3						\$92,270,750.00		\$101,525,000.00		\$141,536,000.00		\$149,575,000.00		\$153,606,606.00		\$304,295,000.00		
	I certify that this is a true and correct tabulation of bids for this project.										* Bid Rejected - Ins	ufficient Rid Par	nd.	** Bid Dojoctod	- Insufficient SBE G	nal			
	Holly Gun	Mar 11, 2022									Dia Rejectea - INS	umolenii dia 600	iu.	Pia Kelectea	- III SUIICIEIL SDE GI	Jai			
	Holly Yuen, Project Manager	Date														Sheet No. 4 of 4 Si	haata		

Sheet No. 4 of 4 Sheets